k- e R
- HR A

() STSIEIEETHER  S80SH - B PR 0
iy i E J[smq,%‘fff 17FI 9 270" ©

S

(b) ﬁjﬁﬂﬂiﬁﬁu PP = LS H‘Mﬁﬂ*f}*ﬁffi F= 9 511300° k| #Eﬁ![@
AR wfﬁf.w%ﬁgﬁqwrﬁﬂm@*ﬂ*‘}*ﬁﬁr* M[f 270" » @‘E ﬂ;ﬁi ***} R
TR pIRELE ) 55 et B8 il - o3 IS S p A 79 9 % '/ I@ﬁ* It 58 =Y
LE -

() BI=S{0A S Ehb 7 415 S B 1 SRR A .S
<R R

(2) J@«j{gﬁgﬁ I%ET{’JE% 3B+ R R TR 2 (2707 o S B
H N i =5 JH °

(b) J3ipkfoL ,?%Flﬂﬁiﬁﬁ\lg,] PRI 94 12707 0 S AL #ﬁ,&ﬁﬁéw@
28 %zﬂﬁ:ﬁ# £ ﬁajﬂm@*ﬂ’ff}*ﬁffl 9 A [R2507 » S0 EL k4 ,LWVIWE ([
AN (At 1o LT S - 53 R 55 Jﬂﬂ“‘ Mf @? ‘/ liﬁ%* I HI[260" » L LSE -

() 3w S = AR S (i BHESVTCHYY 3 -

SRR

(a) I FREHEPrE 0.8 - KB 12E - 343" -

(D) Ty ™4~ ESE PR 0.8 > R L2E - Hfp|163° -

(c) 3B g 0.5 -

R

(a) FI- [[f"ﬁi@%h‘SOO NS 105 (1198 7 PUERHE 80T L A ,sﬂ,&?ﬁ%g
160* "”235’7:77 n £S5 |— Jﬂﬁiﬁ ’ ﬂﬁfaf_ﬂj JlSO F['.f 100 R = '%'YF I&F[-LH&
i 200 SR 1@4 W uﬂpﬁu el fzs i R 15250 ‘Nﬁmﬂ%pp#ﬁ S Bl
AR T fp) e O = 20BRFEPEF 150 LR TR RS 1 -

(b) fr= ?ff[ A9 500, N 80 i 170 20 N %iﬂilﬁéjpﬁiﬁﬁ,lﬂm%f‘]%: WL 13
P R AR -



